PSU SHROUD

for DARK BASE PRO 900

INSTALLATION

1. PSU SHROUD

be quiet!

SCOPE OF DELIVERY

April 2018

Image Part name Amount | Usage
@ PSU shroud @ Covers the PSU
@ PSU-Cover @ Netzteilabdeckung
@ Cache alimentation @ Recouvre le bloc d'alimentation
Osfona zasilacza Ostania zasilacz
@ Cubierta de la fuente de 1 @ Cubre la fuente de alimentacion
alimentacion [ekopatusHas sawwmra Bl
G Koxyx BIM D BT RMHES
BRftERES @ iE= e RUR 2]
@ RN RIFE @PSUEES
@PSUasTk
@ Plastic top covers D Upper covers of the PSU shroud
@3 Top-Cover aus Plastik @ Obere Abdeckung des PSU-Covers
@ Panneaux supérieurs en Panneaux supérieurs du cache
plastique alimentation
@D Plastikowe pokrywy gérne Gérne pokrywy ostony zasilacza
@ cubiertas superiores de 5 Cubiertas superiores de la cubierta de la
plastico fuente de alimentacion
G Mnactvkosbie BEPXHE KPbILLK/ (RU} BepxHue Kpbilku Koxkyxa BI1
BREZ BRHEREEN LS
@ ZBRM= @ BFEHNEPEN 5
@ TIRFVIDNY T HIN— @PSU 25U RD EAH/N—
@ SSD bracket @ 2.5” SSD mounting
@ SSD-Halterung @ Montage der 2.5” SSD
@ Support SSD @ Montage SSD 2.5 "
Wspornik SSD Mocowanie 2,5" SSD
@ soporte del SSD 1 @ Montaje del SSD de 2,5” SSD
@ KpoHwwTeitH SSD @ Kpennexue 2.5” SSD
SSDIEH 2.5” SSD %t
@ Ssbitze @ 2.5” SSD &%
@SSO 7>y @ 2.5" SSD BT
@ PSU brackets @ PSU shroud mounting
@ PSU-Halterungen @ Installation des PSU-Covers
@ Supports d'alimentation @ Montage du cache alimentation
Wsporniki zasilacza Mocowanie ostony zasilacza
@ Soportes de la fuente de 2 @ Montaje de la cubierta de la fuente de
alimentacion alimentacion
(RU] KpoHwTeiiHb! B (RU] KpenneHue koxyxa Bl
BRAAERITR RS EERE
D R BN 2R TELE @ ERHNRIFSRE
@PSUTSS v @@ PSU 257 RERUAT IS
@ #6-32 screws @ PSU shroud mounting
@B #6-32 Schrauben @ Installation des PSU-Covers
@ Vis # 6-32 @ Montage du cache alimentation
GD Sruby #6-32 Mocowanie ostony zasilacza
% ‘ @ Tornillos #6-32 11 @ Montaje de la cubierta de la fuente de
G BukTel # 6-32 alimentacion
#6-32 1R 4% G Kpennehne koxyxa B
D #6-32 B W SRitERESeE
@ #6-32 1L @ SRR RIFE LR
@ PSU >157 FEVHF
@ M3 screws & PSU shroud mounting
@ M3 Schrauben @ Installation des PSU-Covers
@ Vis M3 @ Montage du cache alimentation
GD Sruby M3 Mocowanie ostony zasilacza
‘ @ Tornillos M3 4 @ Montaje de la cubierta de la fuente de
@ BuHTbI M3 alimentacion
M3 1244 G KpenneHne koxyxa BN
@ M3 B EEMERES T
@MmM3hl @ SRR R IFERR

@ PSU >157 FERYAES

2.2.5” SSD

Regular layout

Assembly steps

Inverted layout

@ Secure the PSU brackets with the
#6-32 screws

@ Sichern Sie die PSU-Halterungen
mit den #6-32 Schrauben

@ Fixez les supports avec les vis # 6-32
Przymocuj wsporniki za pomoca
Srub # 6-32

(Es) Fije los soportes con los tornillos
#6-32

G 3akpenuTe KPOHLUTEIIHLI BUHTaMM
#6-32

@D 378 #6-328 44 B E LR

D & #6-320BLE RS
@632 LTI Sy MERELET

@ Install the PSU shroud

G Installieren Sie das PSU-Cover
@ Installez le cache alimentation
Zainstaluj ostone zasilacz

@ Instale la cubierta de la fuente de
alimentacion

@GO YcraHosuTe Koxyx Bl
ZREBRHERES

@ ZEBREMNEFE

@PSU a2 RERIMITET

9
D

@D Lock the #6-32 screws

@D Ziehen Sie die #6-32 Schrauben fest
@ Verrouillez les vis # 6-32

Dokreé $ruby #6-32

@ Apriete los tornillos #6-32

(RU} 3akpyTute BUHTbI #6-32

@D 8 #6-32124

D 9 L #6-3218%

@632 hLEERLET

@ Screw the SSD to the bracket with the M3 screws

@ Bringen Sie die SSD an der Halterung mit Hilfe der M3
Schrauben an

@ Visser le SSD sur le support avec les vis M3

Przykre¢ dysk SSD do wspornika za pomocg $rub M3
(D Atornille el SSD al soporte con los tornillos M3

(RU] MpukpennTe SSD K KPOHLUTEHY BUHTamm M3
FERAM3R 441 SSDIEIREHTE ST 2R

@ ERM3E 227 SSDIERRBifE T 28

@ M3 RLEFEWNSSD TSy MIBEELE T,

@ Screw the SSD bracket onto the PSU shroud with the
#6-32 screws

@B Verschrauben Sie die Halterung am PSU-Cover mit den
#6-32 Schrauben

@ Vissez le support sur le cache alimentation a I'aide des
vis # 6-32
Przykre¢ wspornik do ostony zasilacza za pomoca $rub
#6-32
@ Atornille el soporte a la cubierta de la fuente de
alimentacion con los tornillos #6-32

(RU MpukpenuTe KPOHLWITENH K KOXXYXy BT BuHTamMmn #6-32
EA#6-32B M T REE BRI ERES L

@ 1 #6-321R 2 { ST R Bt R RN B P = |

@ #6-32 RCEMELNPSU 25T RICT STy bEEELE T,

3. 120mm FAN

@ Screw the fan to the PSU shroud

@B Verschrauben Sie den Liifter am PSU-Cover
@ Visser le ventilateur sur le support

Przykre¢ wentylator do wspornika

@ Atornille el ventilador al soporte

(RU MpukpenuTe BEHTUNATOP K KOXYXy BI1
HREBEHESRLE

@ FREEZ2R

@77 vMT7YERUTEET S




(EN

Introduction: Thank you for deciding to purchase a be quiet! product. The following
instructions will guide you through the installation process. If you do encounter
installation problems, please don't hesitate to contact our customer services by
mailing service@bequiet.com. Please note that be quiet! cannot accept liability for
damage caused by compatibility problems.

Warranty:

e 3-year manufacturer guarantee for consumers (original purchase from authorized
be quiet! dealers only)

e Guarantee work can only be processed with a copy included of the purchase
receipt from an authorized be quiet! dealer

¢ Manipulation and structural changes of any kind, including any damage caused
by external mechanical force, will lead to a complete voiding of the guarantee

e Our General Warranty Conditions apply, which can be viewed on bequiet.com

Listan GmbH & Co.KG . Biedenkamp 3a . 21509 Glinde Germany

Wprowadzenie: Dziekujemy za wybér produktu be quiet! Instrukcja przeprowadzi
Cie przez proces montazu. Jesli napotkasz jakies problemy w trakcie instalacji,
skontaktuj sie z naszym serwisem poprzez wiadomos¢ e-mail na adres:
serwis@listan.pl. Pamigtaj jednak, ze be quiet! nie ponosi odpowiedzialnosci za
uszkodzenia spowodowane problemami z kompatybilnoscia.

Gwarancja:

e Trzy lata gwarancji producenta dla klienta koricowego (tylko pierwszy zakup u
autoryzowanego dystrybutora be quiet!).

e Rozpatrzenie gwarancji jest mozliwe jedynie na podstawie dotaczonej kopii
dowodu zakupu u autoryzowanego dystrybutora be quiet!.

¢ Jakiekolwiek manipulacje i zmiany w budowie, jak réwniez uszkodzenia powstate
w wyniku mechanicznych dziatan zewnetrznych prowadza do catkowitej utraty
gwaranciji.

¢ Obowigzujace Ogdine warunki gwarancji na nasze produkty mozna znalez¢ pod
adresem www.bequiet.com.

Listan Poland Sp. z 0.0., ul. Drzeworytnikéw 66, 01-385 Warszawa

BN BREHEEEE be quiet! ER - UTRIAHSIECEMEEER - TIRKE
BRLEME  BUBBRBRMANESREKE - EF I Bservice@bequiet.
com - FEE - FRBEBUBBIEMIEE - be quiet! FEEMEE -

fRE :

- RHEZ 3 EERRE (ERREEEES be quiet! EHEAHD )

o ETRE(EZEA - BIRMKN be quiet! RELHEREE RIS

o ERBAIRIFS L - SREMIIEMSN DS MAVIELER - BERETERY

o BARNBRN—MRERY - Aoh#E www.bequiet.com #BlL

Listan GmbH & Co.KG. Biedenkamp 3A. 21509 Glinde. Germany

DE

Einleitung: Vielen Dank, dass Sie sich fur ein be quiet! Produkt entschieden
haben. Diese Anleitung wird lhnen beim Installationsprozess behilflich sein. Sollten
bei der Installation Schwierigkeiten auftreten, kontaktieren Sie bitte unseren
Kundenservice unter service@bequiet.com. be quiet! kann keinerlei Haftung fiir
durch Kompatibilitatsprobleme bedingte Schaden tibernehmen.

Garantie:

¢ 3 Jahre Herstellergarantie flir Endkonsumenten (nur Ersterwerb vom autorisierten
be quiet! Handler), ab Datum des Kaufbelegs

¢ Eine Garantieabwicklung ist nur in Verbindung mit einer beigefligten Kopie des
Kaufbeleges eines autorisierten be quiet! Handlers mdglich

e Manipulationen und bauliche Verdnderungen jeglicher Art, sowie Beschadigungen
durch &uBere mechanische Einwirkungen, flihren zum totalen Garantieverlust

e Es gelten unsere allgemeinen Garantiebestimmungen, die Sie unter
www.bequiet.com im Internet abrufen kénnen

Listan GmbH & Co. KG . Biedenkamp 3a . 21509 Glinde . Deutschland

®

Introduccién: Gracias por comprar un producto be quiet! Las siguientes
instrucciones le guiardn a través del proceso de instalacién. Si encuentra
algun problema durante la instalacion, pdngase en contacto con
nuestro servicio de atencion al cliente mediante correo electronico en
service@bequiet.com. Tenga en cuenta que be quiet! no puede aceptar la
responsabilidad por los dafios causados por problemas de compatibilidad.

Garantia:

e 3 afos de garantia del fabricante para el consumidor final a partir de la fecha de
compra (s6lo para compra original en distribuidores autorizados be quiet).

e Solo se podran ejercer los derechos de la garantia presentando una copia del
comprobante de compra expedido por un distribuidor autorizado de be quiet!

e La manipulacién de cualquier tipo, las modificaciones estructurales de cualquier
tipo y los dafios por influencias mecanicas externas provocaran la pérdida total
de la garantia.

e Los términos y condiciones integros de la garantia se pueden consultar en
la pagina web www.bequiet.com dentro de la seccién de servicio técnico /
condiciones de la garantia.

Listan GmbH & Co. KG . Biedenkamp 3a . 21509 Glinde . Alemania

2
Z

AIS : EEAREBE be quiet!Fm - MUTRBFESATHALZRTRE - MRAE
ZRIGRPBEIOG - EREBFEHE service@bequiet.com MUEKAKANINER
BRZ5ERIT] - IEEE : be quiet! AERATHRB MBS MAVIRK -

RE]

- FEEBARAPRMUIFRE (MREZEMbe quiet BNEHBUAMIH~R ) -
o BISREN AL REbDe quiet A E B 1R H A0 SSWEEI A -

o RIMEREIMAWLEURNMIVERPIRTE - BNESBRETERY -
s ZERERRINNWERRERR  TUER

www.bequiet.com &1 -

Listan GmbH & Co.KG. Biedenkamp 3A. 21509 Glinde. Germany

Introduction : Nous vous remercions d’avoir choisi un produit de qualité be quiet!.
Cette notice est congue pour vous aider a installer votre matériel. Si vous rencontrez
des difficultés au cours de cette installation, n’hésitez pas a nous contacter a
service@be-quiet.fr. Nous attirons votre attention: be quiet! ne peut assumer la
responsabilité des dommages résultants de problemes d’incompatibilité.

Garantie :

e 3 ans de garantie constructeur pour le client final (uniqguement pour un premier
achat auprés d’un distributeur be quiet! agréé).

* La prise en charge de la garantie est assujettie a la fourniture d'une copie de la
preuve d’achat auprés d’un distributeur be quiet! agréé.

* Les manipulations et modifications de construction de tous types ainsi que les
dommages causés par des actions mécaniques extérieures entrainent la perte
totale de la garantie.

* Les conditions détaillées de garantie peuvent étre consultées sur le site web
bequiet.com.

Listan GmbH & Co.KG . Biedenkamp 3a . 21509 Glinde Allemagne

BeepeHue: Cnacn6o 3a Bbi6op B nonb3y be quiet! MIHCTpyKkuys noMoxkeT Bam B
npotecce ycTaHoBKW. ECnu BO3HWMKHYT TPyAHOCTM MpW yCTaHoBKe, noxkanyicra
CBS)KUTECb C Halwen cny>K6oi noamep>XKu C MOMOLLBIO 3NEKTPOHHOW MOYThbI
(service@bequiet.com). O6paTuTe BHUMaHUE: be quiet! He HeceT OTBETCTBEHHOCTY
3a NOBPeXAeHUs, BO3HUKLUVE 13-3a NPo6aeM COBMECTMOCTU.

FapaHTus:

e 3 ropa rapaHTUM OT MPOM3BOAUTENs [N KOHEYHOro nokynarens (oT
nepBoOHavasbHON NOKYNKK y oduuransHoro gunepa be quiet!).

[apaHTWHbIA PEMOHT MOXeT ObiTb BbIMOSHEH TOMBKO MPW HaNMMYUM Konuu
OOKYMEHTa O MOKYMKe yCTporcTea y oduumansHoro gunepa be quiet!.
MaHunynsumm 1 CTPYKTYpHble M3MeHeHust noboro popa, a Takke Hanu4ne
BHELLHNX MEXaHW4eCKMX MOBPEXAEHNA aBTOMATUYECKN MPUBOAUT K JINLLEHWIO
rapaHTun.

Ha npopyKT pacnpocTpaHaoTcs Hally CTaHAapTHbIE YCIOBUS rapaHTum, KOTopble
MO>XHO MOCMOTPETb B MHTEPHETE Ha canTe www.bequiet.com

Listan GmbH & Co.KG. Biedenkamp 3A. 21509 Glinde. Germany

IEC&IC: be quietlBl@ESHBAWLREE HYHESITTVET, UTOFIET. A
VA=V T O R EERBEMICERBBLE T, AVAS— IV LOBBHNRELHE
I3 service@bequiet.com FEICHTERICHBWNEDLEEEWN, BEMEOBEICEST
5| ERRTEINBIBEICOVTIL be quiet & EFEBESITENTERWTLITTEEL
&L,

fRELE:
. 5%);%%@7’:%@3&%37‘—73—0){%% (be quiet! EFRAIBEDSDHEAIDIEA DS

+ be quiet ERRREENSDBABNED I —IMTBINTUVRIBE DI FEEH
REEhET

. HOWBBBEDWE A HOWDEEDIEEEE. HXU AEBOEBHEHITLD
BEOHE REIETRITEICEVEY

cH O — RN GERIAEZFHEDPEARAINT T, TN IE.
www.bequiet.com TR T BHTENTEET

Listan GmbH & Co.KG . Biedenkamp 3a . 21509 Glinde Germany

Limited Warranty

As per the terms and conditions of this limited warranty as given below, be quiet! warrants its
new products to be free of defects resulting from faulty materials and faulty manufacturing for
the length of the warranty period.

I. APPLICABILITY

This non-transferable warranty is applicable to newly purchased, previously unopened
be quiet! products and is enforceable by only the original consumer purchaser. Proof of
purchase is required for warranty service, so should be retained. be quiet! does not provide
warranty registration services.

1. WARRANTY PERIOD

For eligible products, parts and labor are warranted for the appli-cable warranty period from
the date of purchase. The applicable warranty period varies by product model, and is identified
in your user documentation, on the product package, or as listed below. Should any of these
warranty periods differ, the longest specified warranty period will apply. Replaced products
will be warranted for the remainder of the original warranty period or thirty days, whichever
is longer.

111. EXCLUSIONS
The following are not covered by the warranty:
1. Normal wear and tear.

2. Any product which has been modified without permission from be quiet!, or on which the
serial number or warranty sticker has been defaced, modified, or removed.

Notes

3. Damage, deterioration or malfunction resulting from:

Accident, abuse, misuse or improper use, neglect, connection to an improper voltage source,
unauthorized product modification, or failure to follow instructions included with the product.
Fire, water, lightning, or other acts of nature.

Repair or attempted repair by anyone not authorized by be quiet!.

Shipping or transport damage (claims must be made with the carrier).

Any other cause which does not relate to a defect in materials or manufacturing workmanship.

4. Cartons, cases, batteries, cabinets, tapes, accessories or other consumables used with
this product.

5. be quiet!, Inc. does not warrant that this product will meet your requirements. It is your
responsibility to determine the suitability of this product for your purpose.

6. Removal or installation charges.
7. Shipping charges.

8. Any incidental charges.

IV. EXCLUSION OF DAMAGES

be quiet!'s sole obligation and liability under this warranty is limited to the repair or
replacement of a defective product at its option. be quiet! shall not, in any event, be liable
for any special, incidental, indirect, or consequential damages whatsoever, including but not
limited to loss of profits, revenue, or data (whether direct or indirect), damages resulting
from interruption of service and loss of business, or for liability in tort relating to this product

or resulting from its use or possession, even if be quiet! has been advised previously of the
possibility of such damages.

V. LIMITATIONS OF IMPLIED WARRANTIES

There are no other warranties, expressed or implied, including but not limited to those of
merchantability or fitness for a particular purpose. The duration of implied warranties is
limited to the warranty length specified in Paragraph 11.50

VI. LOCAL LAW AND YOUR WARRANTY
This warranty gives you specific legal rights. You may also have other rights granted under
local law. These rights may vary.

VII. NO OTHER WARRANTY
No be quiet! employee, dealer, or other agent is authorized to make any modification,
extension, or addition to this warranty.

VIIl. TO OBTAIN TECHNICAL SUPPORT OR WARRANTY SERVICE

Please see your product owner’s manual or visit the service section at www.bequiet.com
for details and contact information. You will need to provide proof of purchase for warranty
service.

bequiet.com



